Finance 3300 - Exam 2
Name _________________________________

Formulas
Two risky assets

E(Rp) = w1 R1 + w2 R2
σp2 = w12 σ12 + w22 σ22 + 2w1w2 ρ12 σ1σ2 ; note to find σp, take square root of σp2
One risk-free and One Risky Asset

E(Rp ) = Rf + σp[(Rm-Rf)/σ2]

E(Rp) = w1 Rf + w2 Rm
w1 + w2 = 1 where w1 is % in risk-free asset and w2 is % in risky asset.

σp = w2 σ2
CAPM: E(Rp) = rf + β(Rm-rf)

σi2 = Σ[Ri - E(Ri)]2/(n-1)

σi,m = Σ{[Ri - E(Ri)][Rm - E(Rm)]}/n-1

β = (ρi,m * σi)/σm   or  β = σi,m / σm2
ρim = σim/σiσm
ρ2 or r-square = Explained Var./Total Var. = (βi2 * σm2)/σi2
Multiple Choice

Use the following for the next 3 questions

You are looking at two risky assets, the expected returns, standard deviations, and correlation between the two assets are given below:

E(RA) = 7%, Standard deviation = 12%.

E(RB) = 12%, Standard deviation = 18%.

Correlation between the two assets is 1.0.

1.  If you put 50% of your wealth in asset A and the other 50% in asset B, what is the expected return of your portfolio?

A.  18%

B.  9.5%

C.  10.5%

D.  5.4%

2.   If you put 50% of your wealth in asset A and the other 50% in asset B, what is the standard deviation of your portfolio?

A.  Greater than 18%

B.  Greater than 12% but less than 18%

C.  Less than 12%

3.  All else equal, if the correlation between the two assets became slightly negative,

A.  the standard deviation of the portfolio would be zero.

B.  the standard deviation of the portfolio would be unaffected.

C.  the standard deviation of the portfolio would rise.

D.  the standard deviation of the portfolio would fall.

4. An investor develops a portfolio with 25% in a risk-free asset with a return of 6% and the rest in a risky asset with expected return of 9% and standard deviation of 6%.  The standard deviation for the portfolio is

  (a) 20.3%.

  (b)  4.5%.

  (c)   0%.

  (d) 27%.

  (e)  3.4%.

5. An investor has a portfolio with 60% in a risk-free asset with a return of 5% and the rest in a risky asset with an expected return of 12% and a standard deviation of 10%.  Respectively, the expected return and standard deviation of the portfolio are

  (a) 7.8%, 6%.

  (b) 9.2%, 6%.

  (c) 7.8%, 4%.

  (d) 9.2%, 4%.

  (e) 7.8%, 16%.

6.  You experience returns of 40% then –20%.  What is your arithmetic and geometric annual rate of return?

a.  Arithmetic is 10% and geometric is less than 10%.

b.  Arithmetic and geometric is 10%.

c.  Arithmetic is 10% and geometric is greater than 10%.

d.  Geometric is 10% and arithmetic is less than 10%. 

7.  Behavioral finance differs from the standard model of finance because behavioral finance

	a.
	Precludes the impact of investor psychology.

	b.
	Includes the impact of investor psychology.

	c.
	Accepts the Efficient Markets Hypothesis.

	d.
	Rejects the idea of market anomalies.

	
	


8.  According to the weak-form efficient market hypothesis, stock prices fully reflect

	a.
	All historical information only.

	b.
	All public information only.

	c.
	All historical, public, and private information.


d.    All historical and public information only.

9.  Which of the following is not an assumption of an efficient market?

	a.
	The presence of a large number of profit maximizing participants concerned with the analysis and valuation of securities.

	b.
	There exists a small group of investors who have monopolistic access to certain sources of

Very important information.

	c.
	New information randomly comes to the market.

	d.
	Investors adjust security prices rapidly to reflect information.

	e.
	The security prices that prevail at any point in time should be an unbiased reflection of all

currently available information.




10.  Which stock is the better buy relative to the CAPM?  
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a.  a

b.  b

c.  c

d.  All are equally valuable

11.
Which of the following statements about correlation coefficient is false?

	a.
	The values range between -1 to +1.

	b.
	A value of +1 implies that the returns for the two stocks move together in a completely linear manner.

	c.
	A value of -1 implies that the returns move in a completely opposite direction.

	d.
	A value of zero means that the returns are independent.

	e.
	None of the above (that is, all statements are true)


12.  Relative to each other, which one of these portfolios could not lie on the efficient frontier?

Expected Return
Standard deviation

A.
4


5

B.
5


8

C.

6


6

D.
7


12

E.
10


20

13.  Assume the CAPM holds.  You have a stock that has a beta of 1.5 and an expected return of 12%.  If the risk free rate is 3%, what must the expected return on the market be?

A.  16.5%

B.  6%

C.  9%

D.  8%

E.  13.5%

14.  You expect IBM to return 12% next year.  IBM has a beta of 1.2, the market is expected to return 10% next year, and the risk free rate is currently 5%.  Based on your expectation that IBM will earn 12% next year, relative to the CAPM… 

A.  IBM is undervalued.

B.  IBM is overvalued.

C.  IBM is correctly priced.

15. 
A portfolio manager is considering adding another security to his portfolio. The correlations of the 5 alternatives available are listed below. Which security would enable the highest level of risk diversification?  I.e. Reduce risk the most?

	a.
	0.0

	b.
	0.25

	c.
	-0.25

	d.
	-0.75

	e.
	1.0


16.  
A portfolio is considered to be efficient if:

	a.
	No other portfolio offers higher expected returns with the same risk.

	b.
	No other portfolio offers lower risk with the same expected return.

	c.
	There is no portfolio with a higher return.

	d.
	Choices a and b

	e.
	All of the above


17.  
Which of the following statements is true with regard to the Capital Asset Pricing Model (CAPM) and the Arbitrage Pricing Theory (APT)?

	a.
	CAPM is a single-factor model, while APT can be a multi-factor model.

	b.
	APT identifies all of its factors while the CAPM does not

	c.
	Both APT and CAPM assume arbitrage is possible.

	d.
	CAPM does not assume common investment horizons, while APT does.


18.  
The expected return for Zbrite stock calculated using the CAPM is 15.5%. The risk free rate is 3.5% and the beta of the stock is 1.2. Calculate the implied market risk premium.  i.e. Rm - rf
	a.
	5.5%

	b.
	6.5%

	c.
	10.0%

	d.
	15.5%

	e.
	12.0%


19.  The Separation Theorem implies

a.  that all investors hold the same market portfolio regardless of risk aversion

b.  that only risk neutral investors will hold the same market portfolio

c.  that investors hold different stocks based on their risk aversion

d.  that investors hold different market portfolios when the lending rate is equal to the borrowing rate.

20.  Portfolio theory demonstrates when you hold many stocks, that

a.  only a stock’s standard deviation should be priced.

b.  only a stock’s covariance with the market portfolio should be priced.

c.  only a stock’s covariance with the risk-free asset should be priced.

d.  only a stock’s standard deviation relative to the market’s standard deviation should be priced.

21.  Studies suggest that if you expect the market to fall 10%, to make the most money, you should

a.  short-sell low beta stocks.

b.  short-sell high beta stocks.

c.  buy low beta stocks

d.  buy high beta stocks.

Use the following information for the next three questions. 

όm = 1.658, 

Asset 1:  όi,m = .195, β = .25, όi = .471,

Asset 2:, όi,m = 2, β = .73, όi = 1.245,

Asset 3, όi,m = 1, β = .5, όi = 1.204

όm = standard deviation of market

όi = standard deviation of individual asset

όi, m = covariance of the market with asset i.

22.  Which asset is most risky within a portfolio framework?

a.  Asset 1

b.  Asset 2

c.  Asset 3

d.  They all have equal risk

23.  If you were going to put all your money in only one of these assets, which asset would be least risky?

a.  Asset 1

b.  Asset 2

c.  Asset 3

d.  They all have equal risk

24.  Which asset’s beta are you most confident about in using?  

a.  The one with the highest beta

b.  The one with the lowest standard deviation

c.  The one with the highest r-square

Use the following for the next two questions:

You note the following:  expected return on the market = 10%, expected inflation rate = 4%, risk free rate = 5%, the beta of a stock relative to the market is 1.2, and the beta of this stock relative to inflation is 0.5.

25.  According the CAPM, what is the expected return on this stock?

a.  10%

b.  11%

c.  12%

d.  13%

e.  14%

26.  According to a two factor APT model where the factors are the market and inflation, what is the expected return on this stock?

a.  10%

b.  11%

c.  12%

d.  13%

e.  14%

27.  What would you do first to arbitrage the following situation?  You start out with one orange.

a = apples, o = oranges, p = pineapples, b = bananas

1o = 1a

1o = 1b

1p = 1a

2p = 1b

a.  Trade your orange for an apple

b.  Trade your orange for a banana

28.  In the CAPM model, if the risk-free rate decreases holding all else equal, then the expected return of a stock should

a.  increase

b.  decrease

c.  will not be affected

d.  could either increase or decrease depending on the stocks beta.

29.  You have a stock with an expected return of 10% and a standard deviation of 15%.  What is the probability the stock will have a return greater than 25%?

a.  50%

b.  68%

c.  32%

d.  16%

e.  5%

30. You have a stock with an expected return of 10% and a standard deviation of 15%.  What is the probability the stock will return between -20% and 40%

a.  5%

b.  2.5%

c.  1%

d.  95%

e.  99%

Use the following figure to answer the next question.
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CAL = Capital Allocation Line

31.  If there are two risky assets delineated by the two dark dots  where the correlation between these two assets is equal to zero and there is a risk-free asset delineated Rf, which is the Capital Allocation Line, (CAL)?

a.  a

b.  b

c.  c

d.  d

Use the following figure to answer the next two questions.
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32.  If there are only two risky assets A and B and the correlation between the two assets is somewhere between –1.0 and 1.0, say zero for example, which is the capital allocation line?

A.  Line 1

B.  Line 2

C.  Line 3

33.  If there are only two risky assets A and B and the correlation between the two assets is -1.0, which is the CAL?

A.  Line 1

B.  Line 2

C.  Line 3

Answers

1  b

2  b, 15%

3  d

4  b

5  c

6  a, geo is 5.8%

7  b

8  a

9  b

10  c

11  e

12  b

13  c

14  a

15  d

16  d

17  a

18  c

19  a

20  b

21  b

22  b

23  a

24  c

25  b

26  d

27  b

28  d

29  d

30  d

31  a

32  b

33  a







